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2020

Roll No:

INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)
MATHEMATICS PAPER-II

SUBJECTIVE

TIME ALLOWED: 2.30 Hours
MAXIMUM MARKS: 80

NOTE: Write same question number and its part number on answer book,

(1)
(i)

(iii)
(iv)
(v) .
(vi)
(vii)
(viii)
(ix)
(x)
(x1)
(xii)
(1)
(i1)
(iii)
(iv)
(v)

(vi)

(vii)
(viii)

(ix)
(x)

(xi)
(xii)

as given in the question paper.

SECTION-1

Attempt any eight parts.
Define Function.

Write the Domain and Range of tanx.
If f(x)=+x+1and g(x)=-—15;ﬁnd gof (x).
b3

lim
x =2

Evaluate limit by using algebraic techniques

Define Differentiation.

2
Find the derivative of x/3 by definition.
y=(2\/;c-+2) (x—«/;) find y;.

Find the derivative of sec_1 X.

Findé)—} if x2 +y2 =4
dx

Find 2. i y =tanh(x?)
dx

Find f'(x) if f(x)= \/En(e2x + g™
Write the Taylor Series formula.

Attempt any eight parts.

Find &, and dy if y=x” sdegwhen x changes from 3 to 3.02.

Using differentials find 4 and & when xy — {nx =c¢
dx dy
1
Evaluate J-(Zx +@ Y2 dx
+a>0
Evaluate I - : rrd
Jx+a+Jx+b x+b>0

Evaluate jcos ecx dx

Evaluate Itan4 x dx

1, dx
1 —sinx

Evaluate

7
|

Find the area bounded by cos function from x = % to x =2,

8x2=16

8 x2=16
\
\

i -3

x—2

2

Show that points 4(3,1), B(=2,-3) and C(2, 2) are vertices of an isosceles triangle.

Check whether given lines are parallel:

2x+y+3=0and 4x +2y+5=0

Find equation of the line through (-8, 5) having slope undefined.

Find lines represented by x2 + 2xy seca + y2 =0
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(2)
4. Attempt any nine parts. 9%x2=18

(1) Define Corner Point.

(ii) Graph the solution set of 5x — 4y <20.

(iii)  Find equation of circle with centre (5, —2) and radius 4.

@v) Check the position of point (5, 6 ) with respect to circle 2%° 42 y2 +12x -8y +1=0.
y2
(v)  Find eccentricity of oy x? =1

(vi) Find equation of ellipse with foci (i3\/§ , 0) vertices (%6, 0).

(vii)  Find directrix of parabola x2 —4x -8 y+4=0.

(viii)  Define major axes of ellipse.

(ix)  Find unit vectorof v =i + 2 J=k.

(x) Find o if u =2ai + J—k, v=i+oj+ 4k are perpendicular.
(xi) Find c_lx_b_ifg=§+l, b=i-j

(xii) If a+b+c=0, provethat ax b =bx

10

=cxa
(xiii) Find « if vectors i — 20—k, i— J + 2k and i - j + k are coplanar.

SECTION-II
NOTE: Attempt any three questions. 3 % 10 =30
5.(a) Evaluate the lim tan —sind
>0 sin’0

2
Jx2 =1 (x+1
(b) Find % T (X: )

(3+1)2

6.(a) Evaluate j a’ + %2 dx
(b)  The points (4, =2)=2, 4) and (5, 5) are the vertices of a triangle. Find in-centre of the triangle.

7. (a)  Solve the differential equation ( y-—x %] = 2 ( y2 + %j

(b) Maximize f(x, y)=2x+ 5y subjectto constraints 2y —x <8, x—y<4, x>0, y=0

8.(a) Find coordinates of vertices of a triangle formed by the lines
xX=2y-6=0, 3x—y+3=0, 2x+y—-4=0

(b)  Find equation of circle which passes through points A4(5, 10), B(6,9) and C(-2, 3)

9.(a) Find the focus, axis, vertex, directrix of the parabola x + 8 — y2 + 2y =0 and sketch it.

(b) Using vectors, prove that sin(o + B) = sino cosf + cosa sinf3
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Number: 4191 | INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that

question. No credit will be awarded in case BUBBLES, are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) ‘n (x +4x2 +1 ) = (A) sinh'x  (B) coshlx (C) tanh”'x (D) coth™x
O ¢
@) lim = (A) 1 (B) «© © -~ o
x>0 X 180 T
(3) i(ef(-\‘)): (A) e/ (¥ B) ¢/ (F). £1(x) (C)_'L__ef(x) (D) e/ ). nx
dx J'(x)
. 1d 1 x a? -1 1 — i
@ ——( Cot (—] ] : @ =2~ ® © (D)
a dx a a? + x? a? + x? a? gk’ a? + x*
(5) gx—(tanh(x2 ))z (A) sechz(xz) (B) %x sechz(xz) (C) 2x sech?’ (x2) Dy -2x sechz(x2)
2 3
6) 1+x+ % + )|C_3 +—————— is the Maclaurin series expansion ofz
(A) e* (B) cosx (C) sinx (D) /n(1+x)
1
M |-
4+ x

(A) tn(4+x*) +¢c

&) J.ex[inLEndex:

9) J.cos2 x sinx dx =

(B) %Zn(4+x2)+c (@) %tan"l(%)+c (D) 2n(4 +x%) +c
A) L& I W) ixic (© %Cfnx +c¢ (D) e¥nx+c
X

(A) cos> x + @ (B) 2 cosd x + ¢ ©) %cos3x+c (D)—%cos3x+c

%)

(10) The order of the differential equation: X 4 7V + ? —2x3 =0 ; 183 A1 B2 (©)3 (D) O
dx” X

(11)  The slope of horizontal lihe, ist (A) Zero (B) 1 (C) -1 (D) Undefined
(12) The lines represented by; ax” ¥ 2hxy + by2 = 0, are orthogonal if:

(A) h? —ab =0 BYh: —ab<0  (C)h*>—ab>0 (D)a+b=0
(13) If O is the anfle from line 7 with slope m to the line ¢, with slope my, then tan6 =

- ‘ —-m my +m 1+ mm
(A) 1 QRN (B) g — T Ly e B oy ———=
Tt nmymy 1+ myniy 1- mymy my — My

(14) The distanc®of the point ( 0, 0 ) from the line £: 3x — 4y +9 =0,is: (A)0 (B)9 (€) ¥ (D) %

(15) The associated equation of the linear inequality x +2y <6 is:

(A) x+2y<6

(16) Theline y = mx + ¢ is tangent to the circle x

(A) c=zxay1+ m>

B)x+2y=26 C)x+2y=6 D)yx+2y=0

2+y2=a2 if:

(B) c=%n ©) ¢ =+ aim? +b> (D) c=zmyl+a’

(17) If e is the eccentricity of a conic, then conic is a parabola if:

(A) e=0 (B) e=1 (C) e<l D) e>1
2 2
. o S T T 5 5 4 3
(18)  The eccentricity of = - = =1, is: @Y ® A © % (D ¥
(19) If O is the angle between the vectors ¢ and b, then cos6 =
a.b axb
(A) a.b (B) axb ©) = ®) =
|al|8] |al ]

(20) Three vectors u, v and w are coplaner if:

(A u.vxw=0

B)u.yxw=#0 O u.vxw=1 D)u.vxw=l
SE-14(0bj)(¥€)-2020-1600 (MULTAN)
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Paper Code 2020 Roll No:
Number: 4193 | INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
. . , . . . d* y dy 3 .
(1) The order of the differential equation: et ofs Z— - 2x” =0,is: (A)1 B)2 ()3 (D) O
dx” X
(2) The slope of horizontal line is: (A) Zero (B) 1 (C) -1 (D) Undefined
(3) The lines represented by ax? + 2hxy + by2 = 0, are orthogonal if:
(A) h2 —ab=0 B)h? —ab<0  (C)h* —ab>0 (D)a+b=0
(4) If © isthe angle from line #; with slope m; to the line 7, with slope my , then tan0 =
m—m my —m . M+ m 1+ mm
[ —— (B — L (i) =——= (D) == A
1+ mymy 1+ mymy 1 — mmy mo s=in

(5)  The distance of the point ( 0, 0 ) from the line /: 3x — 4y +9=0,is:  (A) 0 B) 9 (C) % (D) 95

(6)  The associated equation of the linear inequality x + 2y < 6 is:
(A) x+2y<6 B)x+2y=26 O x+2y=6 (Dhx 2y =0

(7) Theline y = mx + c is tangent to the circle X2+ y2 = a? if:

(A) c=imll+n12 (B) c=%n ©) c=i\/a2m2 i b” (D) c=im\/1+a2

(8) If e is the eccentricity of a conic, then conic is a parabola if;

(A) e=0 (B) e=1 (C)fe il D) e>1
2 2
ici P N T N 5 4 3
(9)  The eccentricity of <~~~ =1, is: ¥ ®»Y ©O% ¥
(10) If © isthe angle between the vectors g afid by then cosO =
(A) a.b (B) axb © &2 oy S22
gl 2] |al[2]
(11) Three vectors u, v and w are coplader if:
(A) u.yxw=0 B)u.yaw=0 (Cu.vyxw=l D) u.yxw=1
(12) En(x+\/x2+1j= (A) sinh™'x  (B) cosh”'x (C) tanh”'x (D) cothx
in x° 180
(13)  lim 22X = (A) 1 (B) 0 —  ([—
x—>0 X 180 T
d (,7(x) f(x) SO prey L /) () o/
(14 —le N (A) e B) e « F{2) (C)= e (D) e - Inx
TR 7
2
1 d _1( xj) a’ -1 1 ) -a
15) ——| Cot™ 1= | = A) —— (B) © D)
4 adx( - ) e a’ + x* a’ + x? a? + x* T
‘ (16) gx—(tanh(xz))= (A) sech? (x?) (B)—lz-x sech? (x2) (C) 2x sech? (x%) (D) —2x sech? (x?)
P
(17) 1+x+|—+|—— +————— is the Maclaurin series expansion of:
(A) e* (B) cosx (C) sinx (D) ¢n(1+ x)
(18) J' . = dx =
4 + x
(A) tn(4+x*)+c (B) —;—En(4 +x2)+c (O ;)l:tan_l(%)+ ¢ (D) 2n(4+x*)+c
x/ 1 1 % ~ . 1 X
(19) je L——+f,'nx dx = (A) —e* +c B) tnx +c¢  (C) Afnx+c (D) e"lnx + ¢
¥ X
(20) Icoszxsinx dx = (A) cos® x + ¢ B) —cos®x + ¢ (©) %cos3x+c (D) -%cos3x+c

SE-14(Obj)(2€9¥)-2020-1600 (MULTAN)
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Paper Code 2020 Roll No:
Number: 4195 | INTERMEDIATE PART-11 (12" CLASS) (SPECIAL EXAMINATION)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) j . 2 dx =
4+ x
(A) n(4+x%)+c (B) %En(4 +x2)+c (C) é—tan"(%)—i— ¢ (D)2n(4+x>)+c
) J‘ex(—l— + l@nx) i = (A) lex +¢ B)yilmx+c (C) }ifnx +c (D) e¥inx+c
x x .
3) J‘cos2 x sinx dx = (A) cos® x + ¢ (B) —cos’x + ¢ (C) %0053 x+c¢ (D) —}gcos3 xX+c

2
(4)  The order of the differential equation: xg—y + P _ 2x° =0,is; AL ®dr ©3 DO

2 dx
(5)  The slope of horizontal line is: - (A) Zero (B) 1 (@ —%, YD) Undefined
(6)  The lines represented by ax? + 2hxy + by2 = 0, are orthogonal if:
(A) h? —ab =0 B)h2 —ab<0  (C)h? —ab>0\ D) a+b=0
(7) If 0 is the angle from line ¢ with slope m; to the line £, with slope™m, , then tan® =
my —m my —m - my & my 1L+ mm
&) 1 41- m|m22 ®) 1 fmlmlz © 1 —1 mlné— ®) my _1m‘2

(8) The distance of the point ( 0, 0 ) from the line 7: 3x = 4y +9’=0.is:  (A)0 (B)9 (C) % (D) %

(9)  The associated equation of the linear inequality?x 2y <6 is:

(A) x+2y<6 B)x+2y26 (Cpx+2y=06 (D) x+2y=0
(10) Theline y = mx + ¢ is tangent to the dircle o+ y2 = a2 if:
(A) c=ia\/l+m2 (B) c=am (C)czi\,azm2 + b* (D) c=i~m\}1+a2
(11) If e is the eccentricity of a conic, thengonic is a parabola if:
(A) e=0 B) e=1 (C) e<l1 D) e>1
2 %
v .. ) X ' .
(12)  The eccentricity of —)1—6— - —5— =v], 18: (A) % B) % ©) % (D) %
(13) If O is the angléBeiween the vectors ¢ and b, then cos6 =
a.b axb
A) a.b B) axbh C) ——= (D) ——=
e et all] P Jalle]
(14) ThreeSectors #, v and w are coplaner if:
(A) u.yxw=0 B u.vxw#0 (CQu.yxw=1 D) u.yxw=l
(15) fn(x + \/x2 +1 ) = (A) sinh”lx (B) cosh™lx (C) tanh~lx (D) coth x
.0 180
(16 B 2F . A) 1 B) o € — D —
x>0 X 180 o
(17) —d—(ef“‘) ): @A) e/ ® @) e/ D f1(x) (€) el ) (D) e/ ). i
dx ' J'(x)
2
1 d O x o al L =1 L] ~a
(18 ——| Cot (—j J: (A) ~ (B) (©) D)
adx( a a? + x* a’ + x° a? + x? a’ + x?
(19) di(tanh(xz))= (A) sech”(x%) (B) é—x sech? (x2) (C) 2x sech?(x?) (D) —2x sech® (x?)
X
X2 x3
20) 1+x+ —l—z— + F + - is the Maclaurin series expansion of:
(A) e* (B) cosx (C) sinx (D) fn(1+x)

SE-14(Obj) (Y€ 1€ YX)-2020-1600 (MULTAN)




www.aifrao.com

Paper Code | 2020 Roll No:
Number: 4197 | INTERMEDIATE PART-II (12" CLASS) (SPECIAL EXAMINATION)
MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
1d 1 x)\ 42 -1 o1 —
1) ——|Cot™'|= | |= A —_ B C D
( adx( [" J W c12+vc2 ()az+xz()az+x2 ()a2+x2
Q) di(tanh(x2 )): (A) sech®(x?) (B) 2% sech? (x2) (C) 2x sech? (x2) (D) —2x sech? (x%)
e
2 .3
B l+x+—+ —IT 4+ ————~— is the Maclaurin series expansion of:
4 D
(A) e* (B) cosx (C) sinx (D) /n(1 +9%)
4) j 1 = dx =
4 + x~
(A) tn(4+x*) +c (B) —;—én(4 +x*)+c () é—tan_l x7)+ & OWin(4+x*)+c
(5) J‘ex(l + ﬂnx) dx = (A) lex +c¢  B)yimx+c (© yfnx +c¢ (D) e’tnx +c
x x 7
(6) jcosz X sinx dx = (A) cos® x + ¢ (B) —cos® x + [ (©) %cos3 x+c (D) ——%cos3 x+c
(7)  The order of the differential equation:  x- ~2’ + —E?i N, = 0 , 1s: (A1 B2 (©)3 (D) O
ax X
(8)  The slope of horizontal line is: (A) Zero (B) 1 (C) =1 (D) Undefined
(9)  The lines represented by ax? + 2hxy+ b 2 = Oyare orthogonal if:
I
(A) h> —ab =0 (B)hz—abr<0 (C)hz—ab>0 D)ya+b=0
(10) If 6 is the angle from line /| with'slope #y to the line ¢, with slope m; , then tan6 =
1 R ™ 2 2
(A) my — ny @B ol -y e my +my D) 1 + mym;
1+ mymy 1 + mymy 1 — mymy my — my

(11) The distance of the point QONQ) from the line /: 3x — 4y +9=0.is:  (A)0 (B9 (©) % (D) %
(12) The associated equation ofithe linear inequality x + 2y <6 is:
(A) x+2y<6 B)yx+2y=26 C)x+2y=6 D)y x+2y=0

(13) Theline y =uwnx%¢ is tangent to the circle X2+ y2 = a2 if:

(A) co= P Yy m’ B c=% ©) c=+ta*m? +b> (D) c=+tmyl+a’
(14) If e is thé%eecentricity of a conic, then conic is a parabola if:
(A) e=0 (B) e=1 (C) e<1 (D) e>1
2 2
(15)  The eccentricity ofél/—6— = % =1, is: @& ¥, ® % © 4% (D) /3/5
(16) If O is the angle between the vectors ¢ and b, then cosO =
b b
(A) a.b B) axb ©) == @) 2=
|al|b] |al|b]
(17)  Three vectors u, v and w are coplaner if:
(A) u.yxw=0 B)u.vyxw=0 Qu.yxw=1 D)u.yxw=l
(18) !in(x+w/x.2 +1j= (A) sinh™'x  (B) cosh™lx (C) tankh”'x (D) cothlx
s 0
(19)  lim 30X _ (A) 1 ® - O O
x>0 X 180
20) _a’_(ef(x))= @A) /O @) e/ . f1(x) (€)= ) (D) /).t
dx f( )

SE-14(Obj)(T€ WY VE)-2020-1600 (MULTAN)
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